/ :
3

|

[#
y/
vivaf W
fe
s7

—-— 5

L

£
¥)=cd
%




concovt uf Concav<. Aovin
Z 8 4o ivatire st

fﬁaffﬁ t =0
Mo & A7G)V20 — Locel men

{1 <o =7 local wmax
‘{”(V):Q — ?



- | g
% g
ek ps: f700) = cone= O
i <=7z, 37
\_l_% £ )= - 5m>
‘F”(%): =1 <0 At‘jﬁﬂ

£7(3% )= -T=1 70 Loeal sen

gyajﬂé
Jz,()-;_-; w(st-0) (1)

— 2 (%)
—/x 3>

Lind (eal wainfprax

(’rt?h’w 5.
g{f}’ >

/ — =
g(‘!’)#—-ﬂo — 3% [




j(y)f—k’} -Af.v):: -'a"q
|
4 h ‘/T\ 2
X tor=4x 4°0)= 3 by = —Hx
.F*‘(,ﬂ-::(? J’{a):a 4 (0)= O .
{)= 124 97 6= bx A Med= /e
£7(6)=0 1710)=0 § o)l

Z'J Aertv dest 1ncomcluscee
L 15F desiv Hest will worte



